Amplify Math
Algebra 1, Unit 3 — Functions and Their Graphs
Unit 3 Caregiver Support

Unit Overview + Narrative Connections

Unit Overview + Narrative Connections

In this unit, students will write, graph, and interpret
linear functions, piecewise functions, absolute value functions,
and the inverses of functions. They will make connections
between sound and functions as they “play” mathematical
functions, consider the similarities of reading music and
interpreting the graph of a function, explore how functions can

model pieces of sound, and how functions and inverses can
shift acoustics to amplified sound.

Prior Learning Current Learning Future Learning

e Tables, equations, and e Function notation e Exponential functions
graphs of a function e Domain and range e Quadratic functions

e Inputs and outputs of a e Average rates of change e Polynomial, rational,
function e Key features of functions logarithmic, square root, and
Rate of change e Linear functions trigonometric functions
Slope e Piecewise-defined functions

e Inverses of functions

Key Ideas
e function notation can be used to describe functions.
e Key features of the graphs of functions include domain, range, and average rate of change.
e Interval notation can be used to represent a function's domain and range.
e Piecewise functions are defined by a set of rules.
e The inverse of a function reverses its input and output values.
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Vocabulary

function notation

A way of writing the output of a
named function. For example, if
the function f has an input x, then
f(x) denotes the corresponding
output.

Name of function
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()

[S———
Output of function

Input of function

linear function

A function with a constant rate of
change.
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global maximum

The greatest value of a function
over its entire domain.

Global maximum

sy

local maximum

The value of a function that is
greater than the nearby or
surrounding values of the function.

Local manimum
-
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global minimum

The least value of a function over
its entire domain.

Y

local minimum

The value of a function that is less
than the nearby or surrounding
values of the function.

Y

discrete

Separate and distinct values or
points.
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average rate of change

The ratio of the change in the
outputs to the change in the

inputs, for a given interval of a
function.

f(=)

Average rate of change:

J(b) = f(a)

b—a

¢ (b, f(b))
/
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domain

The set of all possible input values
for a given function.

Inequality:

Interval notation:

Domain: = -2 Domain: [-2, co)
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infinity (infinite, «)

A boundless value, greater than
that of any real number. For values
that continue on forever in the
positive direction, use the infinity
symbol, «. For values that continue
on forever in the negative
direction, use the negative infinity
symbol, -e.

00

-0

interval notation

A way to represent a set of
numbers using parentheses and
brackets.

Endpoint Inequality symbols Interval notation
Closed circle ; <orx= Brackets [or]

Opencircle <or> Parentheses (or)

No endpoint (infinity) . 50 OF —o0 Parentheses (or)

Domain (-1,2] Range[-4, 5)

Y el

4]
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range The set of all possible output Inequality: Interval notation:

values for the function. Range: y=0 Range: [0, x)
LYY :
5
-3 =B 1 1
Py
piecewise function A function defined using different 2.50, 0<t<30
expressions for different intervals e e
L . P@) = 7.50, 60<t<90
in its domain. 15.00,  90<t<120
30.00, 120<t <150
60.00, t > 150
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step function A piecewise function whose pieces e 1
are all constant values. £
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absolute value function | A function whose output value is

vertex

inverse of a function

the distance of its input value from
0. In other words, the absolute
value function is a piecewise
function that takes negative input
values and makes them positive.

The vertex of the graph is the point
where the graph changes from
increasing to decreasing or vice
versa. It is the highest or lowest
point on the graph.

The inverse of a function is created
by reversing all of the function's
input-output pairs. It can be
determined by reversing the
process that defined the original
function.

(@) =|lz|

The vertex shown is (0, 0)

Equation of a function:a=b+5

Equation of its inverse:b=a-5

Algebra 1, Unit 3 — Functions and Their Graphs
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Example Problems + Discussion Prompts

Sub-Unit 1

Problem

Lesson 3
The function C gives the cost, in dollars, of buying

n apples. What does each expression or equation
represent in this context?

a.C(5)=4.50

b. C(2)

Sample Solution

a. For the function notation f(x) =y, the x
represents the input and the y represents the
output.

In this problem, the 5 represents the input, which
is the number of apples.

The 4.50 represents the output, which in this case
is the cost in dollars.

5 apples cost $4.50.

b. For the function notation f(x) =y, the x
represents the input and the y represents the
output.

In this problem, the 2 represents the input, which
is the number of apples.

Though the output is not shown, the output of this
function is the cost in dollars.

The cost of 2 apples.

Discuss this question with your student:

e How would you write the function notation for function C, the cost in dollars, of buying n apples if

the cost of an unknown amount of apples was $6? Why?

Algebra 1, Unit 3 — Functions and Their Graphs
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Sub-Unit 2

Problem
Lesson 7
The graph
represents the €,
distance from a '3:
f

fountain while Bard
walks in the park.
Determine whether
the following
statements are true

or false.

Time {ssconds)

a. The graph has multiple horizontal intercepts.

b. A horizontal intercept of the graph
represents the time when Bard was right
next to the fountain.

. The global minimum of the graph is located at
(17,1).

d. The graph has two global maximums.
e. About 9 seconds after Bard left the fountain at

the beginning of the walk, Bard was the
farthest away from it, about 10 ft.

Sample Solution

a. The graph intersects the horizontal axis at two
points, (0, 0) and about (24, 0).

True

b. The point on the graph that represents the time
when Bard was right next to the fountain would
be when the distance is O, or a point where the
y-coordinate is 0. The graph starts at the point (0,
0) and ends at about the point (24, 0).

True

c. The global minimum of a graph is the least value
of a function over its entire domain. For this
graph, that would be when the y-coordinate is 0,
not 1.

False

d. The global maximum of a graph is the greatest
value of a function over its entire domain. That
would be at about the point (9, 10).

False

e. The farthest distance from the fountain would
be determined by the global maximum. The global
maximum occurs at about (9, 10), representing
about 9 seconds after Bard left the fountain at the
beginning of the walk, Bard was 10 ft away.

True

Discuss this question with your student:
e Canyou identify and describe any other important features in the graph?
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Lesson 11

Consider the graph of "
the function shown. \\ ;

T
a. Write the domain and \ — 3//
range using inequalities. \\ i

B -4'|- A2 g 1 4 o

b. Write the domain and 2

range using interval
notation.

a. The domain is the set of all possible input values
for a given function. This function has input values
less than or equal to 4 because there is a closed
circle when x=4 and the graph continues toward
the left forever toward negative infinity. Domain:
X<4

The range is the set of all possible output values
for a given function. This function has output
values greater than or equal to -1 because the
lowest y-coordinate on the graph is y=-1, and the
graph continues upward toward positive infinity.
Range:y 2 -1

b. The domain is x < 4, meaning there is no left
endpoint and the right endpoint is a closed circle.
Domain: (-, 4]

The range isy > -1, meaning the lowest endpoint is
included and there is no highest endpoint.
Range: [-1, =)

Discuss these questions with your student:

e Over what intervals is the function represented by the graph increasing and decreasing?

Sub-Unit 3

Problem

Lesson 14
A parking garage charges $5 for the first hour, $10

for up to two hours, and $12 for more than two
hours. Let G represent the dollar price of parking
for t hours.

a. Complete the table.

Sample Solution
a. When t=0, that means no parking time has

elapsed so the cost would be $0.

During the first hour, the garage charges $5. This
means that when t=0.5 and t=1, the cost is $5.

For up to two hours, the cost is $10. This means
that when t=1.75 and t=2, the cost is $10.

Algebra 1, Unit 3 — Functions and Their Graphs
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b. Graph the function Gfor 0 <t<12.

Price (%)
5 Kk &

[++]

[

-

123 456 7 8 910112
Time (hours)

For anything over two hours, the cost is $12. This
means when t=5, the cost is $12.

0 0
0.5 5
1l 5
1.75 10
2 10
5 12

b. A point with an open circle means the endpoint
value is not included.

For less than and including 1 hour, the price is $5.
This does not include 0 hours because that does
not cost any money. The first portion of the graph
is an open circle at (0, 5) and a closed circle at (1,
5).

The price is $10, not including 1 hour but up to
and including 2 hours. The next portion of the
graph is an open circle at (1, 10) and a closed circle
at (2, 10).

The price is $12, not including 2 hours but up to
and beyond 2 hours. The next portion of the graph
is an open circle at (2, 12) and the output remains
12 for all input values greater than 2.

Algebra 1, Unit 3 — Functions and Their Graphs 10



Price ($)

P

0 12 3 456 7 8 910112
Time (hours)

Discuss these questions with your student:
e Is G a function of t? Why or why not?
e Ista function of G? Why or why not?

Lesson 17 Absolute value functions, f(x) = | x|, have a vertex
The graph of a function is shown. Which function | at (0, 0). These functions can be transformed by
represents the graph? the constants h and k, f(x) = |X - hl + k. The graph

1%
! :'I kL
1

and the vertex of f(x) =| x| shifts h units to the
right when h >0 and h units to the left when h <0.

A. f(x) = -5 HHHEHHH

f(x) ~ I EENEREEEERE The graph and the vertex of f(x)=|x| shifts k units
B0 = Ix| +5 | up when k>0 and k units down when k < 0.
C.f(x)=|x-5]| i o’ M
D.f(x) = [x + 5| The graph and the vertex of f(x)=|x| shown

moved down 5 units.

The equation in B would move the graph and
vertex of f(x)=|x| up 5 units.

The equation in C would move the graph and
vertex of f(x)=|x| right 5 units.

The equation in D would move the graph and
vertex of f(x)=|x| left 5 units.

The correct answer is A.

Discuss this [these] question[s] with your student:
e Canyou describe the graph of the function represented by the equation in B, C, and D? How do you
know?

Algebra 1, Unit 3 — Functions and Their Graphs 1



Sub-Unit 4

Problem

Lesson 18
Noah's cousin is exactly 7 years younger than

Noah. Let C represent Noah's cousin’s age and N

represent Noah's age. Ages are measured in years.

a. Write a function that defines the cousin’s age as
a function of Noah's age. What quantities
represent the input and output of this function?

b. Write the inverse of the function you wrote in
part a. What quantities represent the input and
output of this inverse?

Sample Solution

a. Because the function will be the cousin’s age as
a function of Noah's age, C will be the output.

If Noah's cousin is 7 years younger than Noah,
that can be represented by the expression N-7.
This means N will be the input.

C=N-7. In this function, N, Noah's age, is the
input and the output is C, his cousin’s age.

b. To determine the equation that represents the
inverse of the function in part a, reverse the
process and operations in the equation and solve
for the other variable.

In this case, to determine the inverse of C=N-7,
solve for N.

C=N-7
C+7=N
N = C+7

The inverse of a function reverses the inputs and
the outputs. The original function had an output
of C, his cousin’s age, and an input of N, Noah's
age.

In this function, N, Noah'’s age, is the output
and the input is C, his cousin’s age.

Discuss these questions with your student:

e What is the processing for determining the inverse of a function?

e What is the processing for determining the inputs and outputs of the inverse of a function?

Algebra 1, Unit 3 — Functions and Their Graphs
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Sample Answers to Discussion Questions
Answers may vary.

How would you write the function notation for function C, the cost in dollars, of buying n apples if the

cost of an unknown amount of apples was $6? Why?

o ((n) = 6, An unknown amount of apples is represented by the variable “n” and it is in the input of the
function. The cost of the unknown apples is $6 and it is the output of the function.

Can you identify and describe any other important features in the graph?

o Bard starts out at the fountain, Bard's distance away from the fountain increases for about 9 seconds to
10 ft away from the fountain, the maximum distance Bard will be from the fountain. Bard’s distance
away from the fountain begins to decrease to about 8.5 ft away from the fountain, then over about 2
seconds, the distance from the fountain remains constant at 8.5 ft away. Then Bard’s distance from the
fountain decreases at a faster rate to 1 ft away after 17 total seconds, then Bard’s distance increases at
about the same rate to 8 ft away, then decreases again over the last 3 seconds back to 0 ft away from
the fountain.

Over what intervals is the function represented by the graph increasing and decreasing?
o The graph of the function is increasing over the interval [-2, 4] and decreasing over the interval (-, -2).

Is G a function of t? Why or why not?
o Yes, Gis a function of t because the price is determined by the amount of time spent in the garage.

Is t a function of G? Why or why not?
o No, tis not a function of G because knowing how much someone paid at the garage does not indicate
the amount of time they spent in the garage.

Can you describe the graph of the function represented by the equation in B, C, and D? How do you

know?

o The graph of the function in B would be the graph of the absolute value function translated up 5 units
because 5 is being added to the absolute value function. The graph of the function in C would be the
graph of the absolute value function translated right 5 units because 5 is being subtracted inside of the
absolute value bars. The graph of the function in D would be the graph of the absolute value function
translated left 5 units because 5 is being added inside of the absolute value bars.

What is the processing for determining the inverse of a function?

o To determine the inverse of a function, reverse the process and operations in the equation representing
the function and solve for the other variable.

Algebra 1, Unit 3 — Functions and Their Graphs 13



e What is the processing for determining the inputs and outputs of the inverse of a function?
o The input-output pairs of the inverse of a function are always reversed from the original function. The
inputs of the function are the outputs of the inverse of the function and the outputs of the function are
the inputs of the inverse of the function.

Algebra 1, Unit 3 — Functions and Their Graphs 14



Amplify Math

Algebra 1, Unidad 3 — Funciones y sus gréficas

Apoyo para cuidadores/as, Unidad 3

Vista general de la unidad + Conexiones narrativas

En esta unidad, los estudiantes escribiran, graficaran e
interpretaran funciones lineales, funciones definidas a trozos,
funciones de valor absoluto e inversos de las funciones.
Estableceran conexiones entre el sonido y las funciones
mientras "tocan" funciones matematicas, consideraran las
similitudes de leer musica y la interpretacion de la grafica de
una funcion, exploraran como las funciones pueden modelar
piezas de sonido y como las funciones y los inversos pueden
cambiar la acustica al sonido amplificado.

Aprendizaje previo Aprendizaje actual
e Tablas, ecuacionesy graficas | ¢ Notacidén de funciones
de una funcion. e Dominioy rango
e Entradasy salidas de una e Tasas de cambio promedio
funcién e (Caracteristicas principales de
Tasa de cambio las funciones
Pendiente e Funciones lineales

Funciones definidas a trozos
Inversos de funciones

Key Ideas
e La notacion de funciones puede utilizarse para describir funciones.

Aprendizaje futuro

Funciones exponenciales
Funciones cuadraticas
Funciones polindbmicas,
racionales, logaritmicas, raiz
cuadrada y trigonométricas

e Las caracteristicas clave de las graficas de las funciones incluyen el dominio, el rango'y la tasa

de cambio promedio.

e La notacion de intervalos puede utilizarse para representar el dominio y el rango de una

funcién.

e Las funciones definidas a trozos se definen mediante un conjunto de reglas.

e Elinverso de una funcion invierte sus valores de entrada y salida.
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Vocabulario

notacion de funcion

Forma de escribir la salida de una
determinada funcién. Por ejemplo,
si la funcién f tiene una entrada x,
entonces f(x) denota la salida
correspondiente.

Nombre de la funcién

Entrada de la funcién

T
@)

s
Salida de la funcion

funcion lineal

Funcién con una tasa de cambio
constante.

Alz) =:§.5n + 40

&
o

5]
o

Dinero recabado ($)

50

5 10 15
Distancia corrida (millas)

maximo global

El mayor valor de una funcién por
sobre la totalidad de su dominio.

maximo local

Valor de una funcién que es mayor
a los valores cercanos o
circundantes de la funcién.

LY | Méximo global
.
/
II
II
II
\
A |
/ p |
f h |
- ‘.__\.. o
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Méximo local |
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f ' I
-+ + S
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minimo global

El menor valor de una funcién por
sobre la totalidad de su dominio.

L
.’l'-.
".
7\ |
|ll; - |
."II \ I'
- — N -
o
y  Minimo global
minimo local Valor de una funcién que es menor v
a los valores cercanos o 7\
circundantes de la funcion. e
III
7\ '.
/ |
.I \ II
- .I .-'\_ ri - g
Minimo local “\.., 4 b
L ]
discreto Valores o puntos separadosy y
e . 60
distintivos.
40
20
0 500 1000
xr
tasa de cambio Razén entre el cambio de las
promedio

salidas y el cambio de las entradas

para un determinado intervalo de
una funcion.

f(b) — f(a
b—a

f(=)

¢ (b, f(b))
/|

(a, f(a))

Tasa de cambio promedio:
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dominio Conjunto de todos los posibles Desigualdad:  Notacién de intervalos:
valores de entrada para una Dominio;z> -2 Dominio: 2, oc)
determinada funcion.

LA
\

(1]

M
-
-t

infinito () Valor ilimitado, mayor que el valor
de cualquier niumero real. Para los
valores que contindan para
siempre en la direccion positiva,
utilice el simbolo de infinito, .
Para los valores que contindan — o
para siempre en la direccion

negativa, utilice el simbolo de
infinito negativo, -.

-0

notacion de intervalo Forma de representar un conjunto | Dominio (-1,2] Rango [-4, 5)

de numeros por medio de Y A
paréntesis y corchetes. ]
Endpoint Inequality symbols Interval notation
Closed circle <orx= Brackets [or]
Opencircle i <or> Parentheses (or)
No endpoint (infinity) 50 OF —o0 Parentheses (or) B =
-5 0 5
£Ir
4
1
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rango El conjunto de todos los posibles Desigualdad: notacion de intervalo
valores de salida de la funcién Rango:y >0 Rango: [0, o)
Y ph
5
—--; -4 5 'I'
Py
funcidn definida a Funcién definida por el uso de 2.50, 0<t=<30
H H 5.00, 30<t <60
trozos diferentes expresiones para i .

diferentes intervalos de su
dominio.

15.00, 90<t <120
30.00, 120<t <150

60.00, t > 150

% J

o

o 55

£ 50
45
40
35
30
25
20
15
10
=
0 30 60 90 120 150 180 210 246-

Tiempo (minutos)
funcidon escalonada Funcion definida a trozos, cuyos gw |
trozos son todos valores g
50
constantes. *

40
35
30
25
20
15
10
=

o

30 60 90 120 150 180 210 240
Tiempo (minutos)
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funcion de valor
absoluto

vértice

inverso de una funcion

Funcion cuya salida es la distancia
entre su entrada y 0. En otras

palabras, la funcion de valor

absoluto es una funcién definida a
trozos que toma entradas

negativas y las hace positivas.

El vértice de la grafica es el punto
en que la tendencia de la grafica
cambia de aumentar a disminuir o
viceversa. Es el punto mas alto o
mas bajo de la grafica.

El inverso de una funcién es creado
al revertir todos los pares
entrada-salida de la funcion. Sele
puede determinar revirtiendo el
proceso que definié a la funcion
original.

(@) =|lz|

El vértice que se muestra es (0,
0)

Ecuacidon de una funcién:a=b +
5

Ecuacién de suinverso:b=a-5
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Problemas de ejemplo + Temas de discusioén

ni 1
Problema

Leccion 3
La funcion C da el costo, en dodlares, de comprar n

manzanas. ;Qué representa cada expresion o
ecuacion en este contexto?

a.C(5)=4.50

b. C(2)

Solucién de ejemplo

a. Para la notacion de la funcién f(x) =y, la x
representa la entrada y la y representa la salida.

En este problema, el 5 representa la entrada, que
es el nUmero de manzanas.

El 4,50 representa la salida, que en este caso es el
costo en ddlares.

5 manzanas cuestan $4.50.

b. Para la notacién de la funcién f(x) =y, la x
representa la entrada y lay representa la salida.

En este problema, el 2 representa la entrada, que
es el nimero de manzanas.

Aunque no se muestra la salida, el resultado de
esta funcion es el costo en ddlares.

EL costo de 2 manzanas.

Comente esta pregunta con su estudiante:
e ;Como escribirias la notacién de la funcion C, el costo en délares, de comprar n manzanas si el

costo de una cantidad desconocida de manzanas fuera de 6 délares? ;Por qué?

Algebra 1, Unidad 3 — Funciones y sus gréficas



Subunidad 2

Problema Solucién de ejemplo

Leccion 7 a. La gréfica interseca el eje horizontal en dos
La grafica puntos, (0, 0) y alrededor de (24, 0).
representa la gloﬂ
distancia 5 Verdadero
desde una e
fuente b. El punto de la grafica que representa el
mientras Bard ’ momento en que Bard estaba justo al lado de la
camina en el fuente seria cuando la distancia es 0, o un punto
parque. | en el que la coordenada y es 0. La grafica
Determina si o m 5 L. comienza en el punto (0, 0) y termina
las siguientes Tiempo (segundos) aproximadamente en el punto (24, 0).
afirmaciones
son verdaderas o falsas. Verdadero

JP o . c. El minimo global de una grafica es el menor
a. La grafica tiene varias intersecciones

. valor de una funcién en todo su dominio. Para
horizontales. - )
este grafico, seria cuando la coordenaday es 0, no

b. Una interseccidn horizontal en la grafica

representa el tiempo en el que Bard estaba justo a
un lado de la fuente.

Falso

d. El maximo global de una grafica es el mayor

c. El minimo global de la grafica esta ubicada en valor de una funcién en todo su dominio. Eso seria
(17, 1). aproximadamente en el punto (9, 10).
d. La grafica tiene dos maximos globales. Falso

e. Alrededor de 9 segundos después de que Bard | e. La distancia mas lejana de la fuente estaria

se alejo de la fuente al comienzo de la caminata, determinada por el maximo global. EIl maximo
Bard se encontraba lo mas lejos de ella, alrededor | global se produce en torno a (9, 10), lo que
de 10 ft. representa unos 9 segundos después de que Bard

saliera de la fuente al principio del paseo, Bard
estaba a 10 ft.

Verdadero
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Comente esta pregunta con su estudiante:
e ;Puedes identificar y describir otras caracteristicas importantes de la grafica?

Leccién 11 a. El dominio es el conjunto de todos los valores
Consulta la grafica de la v de entrada posibles para una funcién dada. Esta
funcion que se muestra. \\ 6 funcion tiene valores de entrada menores o

\ f iguales a 4 porque hay un circulo cerrado cuando
a. Escribe el dominio y el \ i f// x=4y la gréfica continda hacia la izquierda
rango usando \\ A siempre hacia el infinito negativo.
desigualdades. 542240012345 | pominio: x <4

-2

b. Escribe el dominio y el El rango es el conjunto de todos los valores de
rango usando notacion salida posibles para una funcién dada. Esta
y de intervalos funcion tiene valores de salida mayores o iguales

a -1 porque la coordenada y mas baja de la grafica
es y=-1, y la grafica continda hacia el infinito
positivo.

Rango:y 2 -1

b. El dominio es x < 4, lo que significa que no hay
extremo izquierdo y el extremo derecho es un
circulo cerrado.

Dominio: (-, 4]

Elrango esy > -1, lo que significa que se incluye el
extremo mas bajo y no hay extremo mas alto.
Rango: [-1, «)

Comente esta pregunta con su estudiante:
e En qué intervalos es creciente y decreciente la funcion representada por la grafica?

Subunidad 3
Problema Solucién de ejemplo
Leccién 14 a. Cuando t=0, significa que no ha transcurrido
Un estacionamiento cobra $5 por la primera hora, ningun tiempo de estacionamiento, por lo que el
$10 por hasta dos horas y $12 por mas de dos coste seria de 0%.
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horas. Hagamos que G represente el precio en
délares de estacionarse durante t horas.

a. Completa la tabla.

0 0
0.5 5
1 5
L.75 10
2 10
5 12

b. Grafica la funcion Gpara0<t<12.

P~ |

0 123456780910112
Tiempo (horas)

Algebra 1, Unidad 3 — Funciones y sus gréficas

Durante la primera hora, el estacionamiento cobra
5 ddlares. Esto significa que cuando t=0,5y t=1, el
costo es de 5 délares.

Hasta dos horas, el costo es de 10 ddlares. Esto
significa que cuando t=1,75y t=2, el costo es de 10
dolares.

Para mas de dos horas, el costo es de 12 ddlares.
Esto significa que cuando t=5, el costo es de 12

dolares.
0 0
0.5 5
1 5
1.75 10
2 10
5 12

b. Un punto con un circulo abierto significa que el
valor del extremo no esta incluido.

Para menos de 1 hora, el precio es de 5 ddlares.
No se incluyen las 0 horas porque no cuestan
dinero. La primera parte de la grafica es un circulo
abierto en (0, 5) y un circulo cerrado en (1, 5).

El precio es de 10 ddlares, sin incluir 1 hora, pero
hasta 2 horas. La siguiente parte de la grafica es
un circulo abierto en (1, 10) y un circulo cerrado
en (2, 10).

El precio es de 12 ddlares, sin incluir las 2 horas,
pero hasta y mas alla de las 2 horas. La siguiente
parte de la grafica es un circulo abierto en (2, 12) y
la salida sigue siendo 12 para todos los valores de
entrada mayores que 2.
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0 12 3 45 6 7 8 910112
Tiempo (horas)

Comente esta pregunta con su estudiante:

e ;Es Guna funcion de t? ;Por qué o por qué no?
e ;Estunafuncion de G? ;Por qué o por qué no?

Leccién 17
Se muestra la grafica

de una funcién. ;Qué
funciéon representa la
grafica?

A fx)=|x]| -5
B.f(x)=|x| +5
C.f(x)= |x-5]
D.f(x)= |x+5]

Las funciones de valor absoluto, f(x) = | x|, tienen
un vértice en (0, 0). Estas funciones pueden
transformarse mediante las constantes h y k, f(x) =
|x - h| +k. La grafica y el vértice de f(x) =| x| se
desplazan h unidades a la derecha cuandoh >0y
h unidades a la izquierda cuando h < 0. La grafica
y el vértice de f(x)=| x| se desplazan k unidades
hacia arriba cuando k > 0 y k unidades hacia abajo
cuando k < 0.

La graficay el vértice de f(x)=|x| mostrados se
han movido hacia abajo 5 unidades.

La ecuacion en B moveria la grafica y el vértice de
f(x)=|x| hacia arriba 5 unidades.

The equation in C would move the graph and
vertex of f(x)=|x| right 5 units.

La ecuacion en D moveria la grafica y el vértice de
f(x)=|x| a laizquierda 5 unidades.

La respuesta correcta es A.

Comente esta pregunta con su estudiante:
e ;Puedes describir la grafica de la funcidn representada por la ecuacion en B, Cy D? ;Cémo lo sabes?

Algebra 1, Unidad 3 — Funciones y sus gréficas 11



Subunidad 4

Problema

Leccion 18
El primo de Noah es exactamente 7 afios menor

que Noah. Hagamos que C represente la edad del
primo de Noah y N represente la edad de Noah.
Las edades se miden en afios.

a. Escribe una funcion que defina la edad del
primo como una funcién de la edad de Noah.
¢Qué cantidades representan la entrada y salida
de esta funcién?

b. Write the inverse of the function you wrote in
part a. What quantities represent the input and
output of this inverse?

Solucién de ejemplo

a. Como la funcién sera la edad del primo en
funcién de la edad de Noah, C seré la salida.

Si el primo de Noah es 7 afios mas joven que
Noah, eso se puede representar con la expresion
N-7. Esto significa que N sera la entrada.

C=N-7. En esta funcién, N, la edad de Noah, es
la entrada y la salida es C, la edad de su primo.

b. Para determinar la ecuacidén que representa el
inverso de la funcién de la parte a, invierte el
proceso y las operaciones de la ecuaciony
resuelve para la otra variable.

En este caso, para determinar la inversa de C=N-7,
resuelve N.

C=N-7
C+7=N
N =C+7

El inverso de una funcién invierte las entradas y
las salidas. La funcion original tenia como salida C,
la edad de su primo, y como entrada N, la edad de
Noah.

En esta funcién, N, la edad de Noah, es la
salida y la entrada es C, la edad de su primo.

Comente estas preguntas con su estudiante:
e ;Cual es el proceso para determinar el inverso de una funcion?

e ;Cual es el proceso para determinar las entradas y salidas del inverso de una funcion?
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Respuestas de ejemplo a las preguntas de discusion
Puede haber varias respuestas.

e ;COmo escribirias la notacién de la funcion C, el costo en ddélares, de comprar n manzanas si el costo
de una cantidad desconocida de manzanas fuera de 6 dolares? ;Por qué?
o ((n) =6, Una cantidad desconocida de manzanas estd representada por la variable "n" y estd en la
entrada de la funcion. El costo de las manzanas desconocidas es de 6 ddlares y es la salida de la
funcion.

e Puedes identificar y describir otras caracteristicas importantes de la grafica?

o Bard comienza en la fuente, la distancia de Bard de la fuente aumenta durante unos 9 segundos a 10
pies de distancia de la fuente, la distancia mdxima que Bard estard de la fuente. La distancia de Bard a
la fuente comienza a disminuir hasta unos 8,5 pies de distancia de la fuente, luego durante unos 2
segundos, la distancia de la fuente se mantiene constante en 8,5 pies de distancia. Luego, la distancia
de Bard a la fuente disminuye a un ritmo mds rdpido hasta 1 pie de distancia después de 17 segundos
totales, luego la distancia de Bard aumenta aproximadamente al mismo ritmo hasta 8 pies de
distancia, luego disminuye de nuevo durante los ultimos 3 segundos de vuelta a 0 pies de distancia de
la fuente.

e En qué intervalos es creciente y decreciente la funcion representada por la grafica?
o La grdfica de la funcidn es creciente en el intervalo [-2, 4] y decreciente en el intervalo (-« , -2).

e (Es Guna funcién de t? ;Por qué o por qué no?
o Si, G es una funcidon de t porque el precio estd determinado por la cantidad de tiempo que se pasa en el
estacionamiento.

e ;Estunafuncién de G? ;Por qué o por qué no?
o No, t no es una funcion de G porque saber cudnto pago alguien en el estacionamiento no indica la
cantidad de tiempo que pasé en el estacionamiento.

e Puedes describir la grafica de la funcion representada por la ecuacion en B, Cy D? ;Como lo sabes?
o La grdfica de la funcién en B seria la grdfica de la funcién de valor absoluto trasladada hacia arriba 5
unidades porque se estd sumando 5 a la funcién de valor absoluto. La grdfica de la funcién en C seria
la grdfica de la funcion de valor absoluto trasladada a la derecha 5 unidades porque se estd restando 5
dentro de las barras de valor absoluto. La grdfica de la funcion en D seria la grdfica de la funcion de
valor absoluto trasladada a la izquierda 5 unidades porque se estd sumando 5 dentro de las barras de
valor absoluto.

e ;Cudl es el proceso para determinar el inverso de una funcion?
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o Para determinar el inverso de una funcion, invierte el proceso y las operaciones en la ecuacion que
representa la funcion y resuelve para la otra variable.

¢Cual es el proceso para determinar las entradas y salidas del inverso de una funcion?

o Los pares de entrada-salida del inverso de una funcién son siempre inversos a los de la funcion original.
Las entradas de la funcion son las salidas del inverso de la funcidn y las salidas de la funcion son las
entradas del inverso de la funcion.
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